vornment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/2/7/100330

Sanction Date: 15/01/2021

Applications Type : Fresh

| _ | 1 | 1 | 1 | 1 | 1 | | p -1 | J-4 | <u></u> | 1 | Jan ia | 1 | 1 | J -1 | J —4 | junk | Applica |
|--------------------|---------------------------|----------------------|-------------------------|-------------------|-----------------------|-------------------|-------------------|---------------------|---------------------|----------------------|----------------------------|-----------------------|------------------------|-------------------------|-----------------------|--------------------------|-----------|
| 769645 UMESH SIDAR | 769220 K | 765178 SEETA KHADIYA | 765056 T | 764800 SIYA SIDAR | 761960 ABHISHEK SIDAR | 1761917 UMA SIDAR | 1758765 PRIYA PAO | 1761898 KANTI SIDAR | 1757967 MALTI SIDAR | 1757951 SATISH SIDAR | 755877 P | 1751489 YASHODA SIDAR | 1747281 SANTOSHI SIDAR | 1745462 KAILASHINI BHOY | 1653957 KAMLESH KISAN | 545198 L | 1011 110 |
| MESH SI | HITIBHU | EETA KH | APASHWI | IYA SIDA | BHISHEK | JMA SIDA | RIYA PA | CANTI SII | MALTI SII | ATISH S | ANKAJ KI | ASHODA | ANTOSHI | AILASHI | CAMLESH | JMASHAN | 8 |
| IDAR | 769220 KHITIBHUSHAN SIDAR | ADIYA | 765056 TAPASHWINI SIDAR | AR | SIDAR | AR | 0 | DAR | DAR | IDAR | 1755877 PANKAJ KUMAR SIDAR | SIDAR | I SIDAR | NI BHOY | KISAN | 1545198 UMASHANKAR URAON | Student N |
| | AR | | ~ | | | | | | | | AR | | | | | NO | Ā |
| Male | Male | Female | Female | Female | Male | Female | Female | Female | Female | Male | Male | Female | Female | Female | Male | Male | Gend |
| B. A. | B. A. | B. Sc | B. S. | B. S. | B. A. | B. A. | B. A. | B. A. | B. Co | B. So | B. S. | B. S. | B. A | B. A | B. S | B. A | 0 |
| B. A./Arts/I | B. A./Arts/I | B. Sc./Science/I | B. Sc./Science/I | B. Sc./Science/I | B. A./Arts/I | B. A./Arts/I | B. A./Arts/I | B. A./Arts/I | B. Com./Commerce/I | B. Sc./Science/I | B. Sc./Science/I | B. Sc./Science/I | B. A./Arts/I | B. A./Arts/I | B. Sc./Science/I | B. A./Arts/I | S |
| | | I, | I, | I, | | | | | nerce/I | 1/ | 1/ | 1/ | | | 1/ | | į |
| Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | Fresh | |
| Š | sh | S. | sh | sh | sh | sh | sh | sh | sh | sh | sh | sh | sh | sh | sh | sh | Type |
| | | | | | | | | | | | | | | | | | A S |
| 00 | 00 | 00 | 00 | 8 | 00 | 00 | 8 | 00 | 8 | 8 | 7 | 80 | 00 | 8 | 00 | 00 | |
| 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | Kate |
| | | | | | | | | | | | | | | | | | Mainter |
| 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2400 | 2100 | 2400 | 2400 | 2400 | 2400 | 2400 | iense |
| | | | | | | | | | | | | | | | | | uikon Fe |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | e Office |
| 1982 | 1982 | 2022 | 2022 | 2022 | 1982 | 1982 | 1982 | 1982 | 1982 | 2022 | 2022 | 2022 | 1982 | 1982 | 2022 | 1982 | Fee |
| 1982 | 1982 | 2022 | 2022 | 2022 | 1982 | 1982 | 1982 | 1982 | 1982 | 2022 | 2022 | 2022 | 1982 | 1982 | 2022 | 1982 | Total Fac |
| 2 | 2 | 2 | 2 | 22 | 2 | 2 | 2 | 12 | N | 2 | 12 | 72 | \$2 | 22 | 22 | 32 | Ē |
| 4382 | 4382 | 4422 | 4422 | 4422 | 4382 | 4382 | 4382 | 4382 | 4382 | 4422 | 4122 | 4422 | 4382 | 4382 | 4422 | 4382 | Autoun |

laration:

In the studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 100 here by sanctioning a sum of Rs.Out of which Rs......s maintenance allowance and Rs.as tuition and other fees. Printed copy of online have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts mention scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the period it is determined to the authority for eventual discontinuance of scholarship/stipend from the authority for eventual discontinuance of scholarship from the authority for eventual discontinuance of scholar attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature & Seal of Witactiff Institution)
NaVision Character Gupta Govt. College
Pussore, Dist.- Raigarh (C.G.)

venment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/2/7/100330

Sanction Date: 15/01/2021

Applications Type : Fresh

| | or me | or in the | | Konto | Note: | | COULTEE O | ther Fee | Total Fee To | lal Amo |
|--------------------------|--------|--------------------|-------|-------|-------|------|-----------|----------|----------------|---------|
| 1770803 ANJALI SIDAR | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | |
| 1771907 VIKAS SIDAR | Male | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1773536 KISHAN SIDAR | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1773574 VARUN SIDAR | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1773799 SANJEETA SIDAR | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1775227 MANORAMA NEGI | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1776112 ANITA MAJHI | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1776943 NEHA SIDAR | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1777889 KAMLESH SIDAR | Male | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1778836 ARTI SIDAR | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1781058 KHIRKUMAR SIDAR | Female | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1781652 SURUCHI SIDAR | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1783464 AJAY KUMAR SINGH | Male | B. Com./Commerce/I | Fresh | 7 | 300 | 2100 | 0 | 1982 | 1982 | 4082 |
| 1784549 RAGINI SIDAR | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1787550 PURNIMA KISAN | Female | B. Sc./Science/I | Fresh | 8 | 300 | 2400 | 0 | 2022 | 2022 | 4422 |
| 1788658 NISHA SIDAR | Female | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1792027 BHUPENDRA SIDAR | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | 4382 |
| 1795808 KARAN KUMAR | Male | B. A./Arts/I | Fresh | 00 | 300 | 2400 | D | 1087 | 1000 | 4000 |

claration :

Illuate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts III no. 1 to I do here by sanctioning a sum of Rs. other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is det markip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal fromOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Sea of Head of the Institution)
Names (Capital Persons Dist. - Raigarit (C.G.)

annment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/2/7/100330

Applications Type: Fresh

Sanction Date:

15/01/2021

| | The second second second | | 0 | 114600 | Total · | | | | | |
|----------|--------------------------|-----------|------------------|--------|---------|-------|-------|--------------------|--------|-----------------------------|
| 4422 | 2022 | 2022 | 0 | 2400 | 300 | 8 | Fresh | B. Sc./Science/I | Male | 1/98354 BHUPENDRA SIDAR |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. A./Arts/I | Female | 1/64450 AMBIKA SIDAR |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. A./Arts/I | Female | 1/548/4 LALLIA SIDAR |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. Com./Commerce/I | Male | 1829265 SANJAY KUMAR SIDAR |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. A./Arts/I | Male | 1828115 RUPENDRA SIDAR |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. A./Arts/I | Female | 1824180 DIVYA SIDAR |
| 4422 | 2022 | 2022 | 0 | 2400 | 300 | 8 | Fresh | B. Sc./Science/I | Male | 1819239 KOUSHAL KUMAR SIDAR |
| 438 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. A./Arts/I | Female | 1818/91 DEEPA SARAL |
| 4382 | 1982 | 1982 | 0 | 2400 | 300 | 8 | Fresh | B. Com./Commerce/I | Male | 18159/1 VIDYADHAR SIDAR |
| 438 | 1982 | 1982 | 0 | 2400 | 300 | 00 | Fresh | B. Com./Commerce/I | Male | 1012079 ANIL BAGH |
| | 2022 | 2022 | 0 | 2400 | 300 | 8 | Fresh | B. Sc./Science/I | Male | 1012030 AVAI NOMAK BHOY |
| | 2022 | 2022 | 0 | 2400 | 300 | 8 | Fresh | B. Sc./Science/I | Female | 1811/26 GAYALKI SIDAK |
| | 2022 | 2022 | 0 | 2400 | 300 | 8 | Fresh | B. Sc./Science/I | Female | 181173C CAYATTI SIDAR |
| | | | | 2400 | 2000 | 0 | Eroch | B Sc /Science/T | Female | 541 SANGITA SIDAR |
| Total Am | Total Fee | ourel Fee | THE PARTY OF THE | | í | Vania | 14 T | | | |

claration :

olarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online tified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is a few didate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts



remment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/2/7/100316

Sanction Date: 15/01/2021

Applications Type: Renewal

| pplication ID Student Name 1413027 ANJALL BHOY | Gender Female | Course B. Com./Commerce/III | Type | No. of Month | Rate 300 | Maintenence Allowance 3000 | Tuition Fee | Olther Fee 1822 |
|--|------------------|------------------------------|---------|-----------------|-------------|----------------------------------|-------------|--------------------|
| 1469071 AVDHUT NEGI | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1473365 TARINI SIDAR | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1474061 SHEELA SIDAR | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1476744 PREM KUMAR SIDAR | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1482769 KHAGESHWAR SIDAR | Male | B. Com./Commerce/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1484688 SUNIL KUMAR | Male | B. Com./Commerce/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1492915 DILCHAND SIDAR | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1506263 HEMLATA KISAN | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1510124 SANJU KUMAR | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1506709 KANTI KHADIYA | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1496497 MANOJ SIDAR | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1516234 AARTI SIDAR | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |
| 1516497 PREMSHEELA SIDAR | Female | B. Sc./Science/III | Renewal | 10 | 300 | . 3000 | 0 | 1862 |
| 1521398 MUKESH SIDAR | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 |
| 1525469 SUNIL SIDAR | Male | B. Com./Commerce/III | Renewal | 10 | 300 | 3000 | 0 | 1822 |
| 1526693 DHANURJAY SIDAR | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | |

claration:

other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is decent plarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ruffed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ididate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Agy of the adjoint institution)

Nise to situate appta Govt. College

Pussore, Dist.- Raigarh (C.G.)

vomment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/2/7/100316

Sanction Date : 15/01/2021

Applications Type : Renewal

| 1580567 | 1566873 | 1563052 | 1554004 | 1552724 | 1549496 | 1547018 | 1546303 | 1545199 | 1544014 | 1540956 | 1540942 | 1539393 | 1537155 | 1536898 | 1532173 | 1527774 | 1527278 | Application ID |
|---------------------|--------------------|----------------------|----------------------|------------------------|---------------------|-------------------------|------------------------|-------------------------|----------------------|---------------------------|----------------------|-------------------------|-----------------------|----------------------|----------------------------|--------------------|-----------------------|--------------------------------|
| 1580567 LAXMI SIDAR | 566873 ISHWAR BHOY | 563052 CHAMELI SIDAR | 1554004 SARITA SIDAR | 1552724 SUJATA KHADIYA | 1549496 GOURI SIDAR | 1547018 GOPEE RAM SIDAR | 1546303 GURWARI MANJHI | 1545199 LALITA BHUMIYAN | 1544014 ISHWARI BHOY | 1540956 DHANESHWARI SIDAR | 1540942 DEEPAK SIDAR | 1539393 DEENDAYAL SIDAR | 1537155 PURNIMA SIDAR | 1536898 ROSHNI BHOY | 1532173 HARISH KUMAR SIDAR | 1527774 SEEMA BHOY | 1527278 KASTURI SIDAR | Student Name |
| Female | Male | Female | Female | Female | Female | Male | Female | Female | Female | Female | Male | Male | Female | Female | Male | Female | Female | Gender |
| B. A./Arts/II | B. A./Arts/III | B. A./Arts/III | B. A./Arts/III | B. Sc./Science/III | B. A./Arts/III | B. Com./Commerce/III | B. Sc./Science/III | B. A./Arts/III | B. Com./Commerce/III | B. Sc./Science/III | B. Sc./Science/III | B. Sc./Science/III | B. Sc./Science/III | B. Com./Commerce/III | B. Sc./Science/III | B. A./Arts/III | B. A./Arts/III | Çaurse |
| Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Type |
| 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | No. af Month |
| 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | Rate |
| 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | Maintenence Allowance |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | Tuition Fee |
| 1822 | 1822 | 1822 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1822 | 1862 | 1862 | 1862 | 1862 | 1822 | 1862 | 1822 | 1822 | Other Fee |
| 1822 | 1822 | 1822 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1822 | 1862 | 1862 | 1862 | 1862 | 1822 | 1862 | 1822 | 1822 | uition Fee Other Fee Total Fee |
| 4822 | 4822 | 4822 | 4822 | 4862 | 4822 | 4827 | 4867 | 482 | 482 | 486 | 486 | 486 | 486 | 482 | 486 | 482 | 482 | Total Amoun |

claration:

Illulate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ulfied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from al no. 1 to I do here by sanctioning a sum of Rs. Illian regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detection In hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Scalof Head of khe/institution)
Named Capitel Haters Cupta Govt. College
Pussore, Pist. Reinard College

vernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/2/7/100316

Sanction Date: 15/01/2021

| D |
|----------|
| O |
| 0 |
| - |
| 53 |
| # |
| 0 |
| ~ |
| CO |
| |
| - |
| ype |
| 8 |
| CD |
| |
| |
| - |
| N |
| CD |
| \equiv |
| CD |
| 2 |
| Ø |
| _ |
| |
| |
| |
| |

| plication ID Student Name | Gender | Course | Тура | No. of Month | Rate Ma | Intenence Tuit | ion Fee 0 | ther Fee | Total Fee Tot | tal Amou |
|--------------------------------|--------|----------------------|---------|-----------------|---------|----------------|-----------|----------|---------------|-----------------------------|
| 1621481 LAXMI PRASAD | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 486 |
| 1628132 NILIMA MALIK | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1633554 MAHADEVA SIDAR | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1636572 KETKEE SANDHA | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1636793 PRITEE SIDAR | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1642569 MANISHA SIDAR | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1642730 KUNTI SIDAR | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | |
| 1643274 JOT RAM SIDAR | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | |
| 1646611 ANITA SARAL | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 482 |
| 1647374 MAMTA SIDAR | Female | B. Com./Commerce/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | STANISH WITH THE PERSON |
| 1652514 YOGESHWARI SIDAR | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | |
| 1653016 MAMTA BHOY | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | mild in the many species of |
| 1653139 SUBRAT SONI | Male | B. Com./Commerce/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | THE CONTRACT SERVICES |
| 1657378 SUKANTI BAGH | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1509796 ASHWINEE KUMAR KHADIYA | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1534206 SARASWATI SIDAR | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | |
| 1535700 BEENA SIDAR | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4827 |
| 1659753 GAMINI SIDAR | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |

glaration :

Ino. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illuse have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from larship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is

(Signature & Sea pine and the Institution)
Wishney Cohine the Charles a Lovt. College
Pussore, Dist.- Raigarh (C.G.)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/2/7/100316

Sanction Date: 15/01/2021

Applications Type: Renewal

| 1713170 ANJALI SIDAR | 1706365 RANJU SIDAR | 1697679 ARTI SIDAR | 1694394 DESHANTARI BHOY | 1694036 SUNITA SIDAR | 1693711 VIRENDRA KUMAR SIDAR | 1690861 SUSHMA SINGH | 1682677 SAPANA SIDAR | 1681882 MADHURI SIDAR | 1680483 SUNIL KUMAR KHADIYA | 1680073 NIKEE SIDAR | 1676511 SARITA BHUMIYAN | 1675458 SULAKSHANI SIDAR | 1669832 RAJNI SIDAR | 1664394 HEMSAGAR SIDAR | 1664140 GAYTRI KHADIYA | 1663433 NILANDREE BHOY | 1659914 SANJAY SIDAR | Application 10 |
|----------------------|---------------------|--------------------|-------------------------|----------------------|------------------------------|----------------------|----------------------|-----------------------|-----------------------------|---------------------|-------------------------|--------------------------|---------------------|------------------------|------------------------|------------------------|----------------------|----------------------------|
| DAR | DAR | ₽R | ARI BHOY | IDAR | KUMAR SIDAR | SINGH | SIDAR | SIDAR | MAR KHADIYA | DAR | HUMIYAN | NI SIDAR | DAR | R SIDAR | CHADIYA | Е ВНОУ | SIDAR | tudent Name |
| Female | Female | Female | Female | Female | Male | Female | Female | Female | Male | Female | Female | Female | Female | Male | Female | Female | Male | Gender |
| B. Sc./Science/II | B. A./Arts/II | B. A./Arts/II | B. Com./Commerce/II | B. Sc./Science/II | B. Sc./Science/III | B. Sc./Science/II | B. Sc./Science/II | B. Com./Commerce/II | B. A./Arts/II | B. Sc./Science/II | B. Sc./Science/II | B. A./Arts/II | B. A./Arts/II | B. A./Arts/II | B. Sc./Science/II | B. Com./Commerce/II | B. Sc./Science/II | Course |
| Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | lype |
| 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | No. of Worth |
| 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | Rate M |
| 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | alitenence Ti Allowance |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | litton Fee (|
| 1862 | 1822 | 1822 | 1822 | 1862 | 1862 | 1862 | 1862 | 1822 | 1822 | 1862 | 1862 | 1822 | 1822 | 1822 | 1862 | 1822 | 1862 | Other Fae |
| 1862 | 1822 | 1822 | 1822 | 1862 | 1862 | 1862 | 1862 | 1822 | 1822 | 1862 | 1862 | 1822 | 1822 | 1822 | 1862 | 1822 | 1862 | Total Fee Total Am |

claration:

al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illuste have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or acceplarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Iffed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is december.

(Signature & SAN Britach petitye Institution)

Netich (Geothal America) pta Govt. College

Pussore, Dist.-Raigarh(C.G.)

ornment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/2/7/100316

Sanction Date: 15/01/2021

Applications Type: Renewal

| 411030 | 156030 | 156030 | 0 | 255000 | Total: | | | | | |
|------------|-----------|-------------|----------|-----------|--------|-------|---------|---------------------|--------|----------------------------|
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. A./Arts/II | Female | 1734154 JAGESHWARI SIDAR |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1728384 VIMLA SIDAR |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1727649 KAVITA SIDAR |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1727160 MEGHA SIDAR |
| 4862 | 1862 | 1862 | 0 | 3000 | 300 | 10 | Renewal | B. Sc./Science/II | Male | 1726594 DEEPESH BHOY |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1724538 ANJALI SIDAR |
| 4862 | 1862 | 1862 | 0 | 3000 | 300 | 10 | Renewal | B. Sc./Science/II | Female | 1723429 NANDINEE VILUNG |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. A./Arts/II | Female | 1720498 LATA SIDAR |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1720423 RAMULA KISHAN |
| 4822 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1720141 NANDINEE KISHAN |
| 4827 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. A./Arts/II | Male | 1719454 MUKESH KUMAR SIDAR |
| 4827 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Female | 1719383 ANITA SIDAR |
| 482 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. A./Arts/II | Male | 1719165 GANGADHAR BHUMIYAN |
| 4827 | 1822 | 1822 | 0 | 3000 | 300 | 10 | Renewal | B. Com./Commerce/II | Male | 1717946 HEMCHAND SIDAR |
| Total Amou | rotal Fee | Officer Fee | muon Fee | Allowance | 700 | Month | Y | Collise | Gender | Studen Name |

laration :

wher regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship/stipend from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the period it is the authority for eventual discontinuance of scholarship from the authority for eventual discon fled that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Inte have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts archip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature on Seal in George over College Pussore, Dist. - Raigarh (C.G.)

register for Scholarship

emment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/1/9/100322

Sanction Date: 15/01/2021

Applications Type: Fresh

| Singell Walife | Geine | conse | Туре | Worth | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | otal A |
|--|----------|--|-------|--|------|--------------------------|-------------|-----------|-----------|---|
| 1006462 SHAILENDRA KUMAR BANJARE | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1985 | |
| 1615553 TEJPAL KURRE | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1090 | |
| 1748388 ISHWAR SANJAY | Male | B. Com./Commerce/I | Fresh | 8 | 300 | 2400 | 0 | 1000 | 1002 | |
| 1749383 DEEPAK KUMAR | Male | B Com /Commerce/I | | 0 | 200 | 2.00 | 0 | 7867 | 1982 | |
| בייייייייייייייייייייייייייייייייייייי | Male | B. Com./Commerce/1 | Fresh | 00 | 300 | 2400 | 0 | 1982 | 1982 | |
| 1753177 SHARDA CHOUHAN | Female | B. A./Arts/I | Fresh | 7 | 300 | 2100 | 0 | 1982 | 1982 | |
| 1753232 GAYATRI CHOUHAN | Female | B. A./Arts/I | Fresh | 00 | 300 | 2400 | 0 | 1987 | 1007 | |
| 1754725 RISHIMA DEEP | Female | B. A /Arts/I | Frach | 0 | 200 | |) (| 1000 | 7021 | |
| TEST AND ANIMAL CHOICE | 1 | Contraction and the state of th | I COI | 0 | SUU | 2400 | 0 | 1982 | 1982 | |
| 1/38349 ANJALI CHOUHAN | Female | B. A./Arts/I | Fresh | 00 | 300 | 2400 | 0 | 1982 | 1982 | |
| 1759508 ANJANI CHOUHAN | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | A THE OF STREET A PARTY. |
| 1761575 AANCHAL CHOUHAN | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1087 | |
| 1761726 POOJA JANGDE | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1087 | 100000000000000000000000000000000000000 |
| 1761759 NANDINI CHOUHAN | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | D | 1000 | 1002 | |
| 1763103 ANITA SARTHI | Female | B. A./Arts/I | Fresh | 20 | 300 | 2400 | 0 | 7007 | 7967 | |
| 1765295 1YOTI SARTHI | Emalo | B Com /Common/I | | The state of the s | 000 | 7.100 | C C | 7061 | 7867 | |
| TOURS OF CONTRACT | Tellidie | B. Com./Commerce/1 | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | |
| 1/65320 REKHA CHOUHAN | Female | B. A./Arts/I | Fresh | 8 | 300 | 2400 | 0 | 1982 | 1982 | |
| 1769418 DIPPI CHOUHAN | Female | B. Com./Commerce/I | Fresh | 7 | 300 | 2100 | 0 | 1982 | 1982 | |
| 1771453 NEELAM CHOUHAN | Female | B. A./Arts/I | Fresh | œ | 300 | 2400 | 0 | 1982 | 1027 | |

laration :

the regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is arable form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the 100, 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online find that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & healthneidealthne Institution)
Wishney Ghatanesuspia Govt. College
Pussore, Dist.- Raigarh(C.G.)

vornment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name : Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/1/9/100322

Sanction Date: 15/01/2021

Applications Type: Fresh

| B. Com./Commerce/I Fresh 8 300 2400 0 1982 1982 Ie B. Com./Commerce/I Fresh 8 300 2400 0 1982 1982 Ie B. Sc./Science/I Fresh 7 300 2100 0 2022 2022 B. Sc./Science/I Fresh 8 300 2400 0 2022 2022 Ie B. Sc./Science/I Fresh 7 300 2100 0 2022 2022 | 1860083 SANTOSHI SARTHI Female |
|--|--|
| B. Com./Commerce/I Fresh 8 300 2400 0 1982 B. Com./Commerce/I Fresh 8 300 2400 0 1982 B. Sc./Science/I Fresh 7 300 2100 0 2022 B. Sc./Science/I Fresh 8 300 2400 0 2022 | The second second second second second |
| B. Com./Commerce/I Fresh 8 300 2400 0 1982 B. Com./Commerce/I Fresh 8 300 2400 0 1982 B. Sc./Science/I Fresh 7 300 2100 0 2022 | |
| B. Com./Commerce/I Fresh 8 300 2400 0 1982 B. Com./Commerce/I Fresh 8 300 2400 0 1982 | |
| B. Com./Commerce/1 Fresh 8 300 2400 0 1982 | The second secon |
| | N |
| ile b. Sc./Science/1 Fresh 8 300 2400 0 2022 | The second of the second |
| b. Sc./Science/1 Fresh 6 300 1800 0 2022 | |
| D C C C C C C C C C C C C C C C C C C C | 1787276 THI ABAM BHARDWAI |

ration :

althor regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is before Indate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disconting extra studies or accepts marship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Illed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

SignithmusCharlant Repoter One In Scholings
Namp(Instant Library, Library, Raigarh (C.G.)

vornment of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/1/9/100358

Sanction Date: 15/01/2021

Applications Type: Renewal

| Sidde | genuel | Course | Type | Mosth | Kate | Maintenence Allowance | Turkon Fee | Other Fee | Total Fee | Total Amount |
|----------------------------|--------|---------------------|---------|-------|------|--------------------------|------------|-----------|-----------|--------------|
| 1428836 TAPASHWINI CHOUHAN | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4860 |
| 1474470 SINDHULATA CHOUHAN | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4877 |
| 1490492 AISHWARYA SINGH | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1493802 DURGA CHOUHAN | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1519962 MAHIMA CHOUDHARY | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1526452 NALINEE MIRDHA | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1528515 JANANEE MIRDHA | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1530049 PRAKASH KANTE | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1721295 SANDHYA CHOUHAN | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1535383 DEVANAND CHOUHAN | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1545944 MANISHA CHOUHAN | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1540622 SAROJ CHOUHAN | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1547678 PREETI CHOUHAN | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1862 | 1862 | 4862 |
| 1578773 ARUNA CHOUHAN | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0. | 1822 | 1822 | 4822 |
| 1553848 JYOTI SINGH | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1626607 BADRINATH CHOUHAN | Male | B. Com./Commerce/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |
| 1631699 NIRANJAN CHOUHAN | Male | B. Com./Commerce/II | Renewal | 10 | 300 | 3000 | 0 | 1822 | 1822 | 4822 |

Infallon:

III 110 I do here by sanctioning a sum of Rs. have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In the studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from In the land of scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defined by the scholarship of the schola In form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Scale of riendin) and Institution)

National Control of the Pussore, Dist. - Raigarh (C.G.)

omment of Chhattisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/1/9/100358

Sanction Date : 15/01/2021

Applications Type: Renewal

| 1717 | 1699 | 1702 | 1698 | 1697 | 1697 | 1688 | 1688 | 1686 | 1681 | 1679 | 1677 | 1658 | 1654 | 1719 | 1646 | 1639 | 1637 | Applications |
|---------------------|-----------------------|---------------------|-----------------------|---------------------------|-------------------------|------------------------|----------------------|---------------------|----------------------|---------------------|-----------------------|----------------------|----------------------|--------------------------|---------------------|-------------------------|--------------------------|---------------------------------------|
| 1717020 UMA CHAUHAN | 699302 SHANTI CHOUHAN | 1702993 ANITA LAHRE | 698227 RUPESH CHOUHAN | 1697774 BHUMISUTA CHOUHAN | 1697678 LAVKESH CHOUHAN | 1688832 YOGESH CHOUHAN | 1688736 SURAJ SARTHI | .686054 PRIYA RATRE | 681857 JANKI CHOUHAN | 1679917 RITU KUMARI | 1677137 GANGA SATNAMI | 658871 JYOTI CHOUHAN | 1654000 DIVYA MIRDHA | 1719811 GIRDHARI CHOUHAN | 1646978 RAKHI SANDE | 1639241 SURAJ KUMAR NAT | 1637428 GULAVATI CHOUHAN | TD Student Name |
| Female | Female | Female | Male | HAN Female | N Male | Male | Male | Female | Female | Female | Female | Female | Female | AN Male | Female | Male | AN Female | anne de Caraco |
| B. Sc./Science/II | B. A./Arts/II | B. Sc./Science/II | B. Sc./Science/II | B. A./Arts/II | B. Sc./Science/III | B. A./Arts/II | B. A./Arts/II | B. Sc./Science/II | B. Com./Commerce/II | B. Sc./Science/II | B. A./Arts/II | B. Com./Commerce/II | B. Sc./Science/II | B. A./Arts/II | B. A./Arts/II | B. Com./Commerce/II | B. A./Arts/II | Course |
| Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Renewal | Type |
| 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | No. of Month |
| 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | 300 | Kate |
| 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | Allowance |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | Turtion Fee |
| 1862 | 1822 | 1862 | 1862 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1822 | 1822 | 1822 | o) les les |
| 1862 | 1822 | 1862 | 1862 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1862 | 1822 | 1822 | 1862 | 1822 | 1822 | 1822 | 1822 | Tuition Fee Other Fee Total Fee Total |
| 4862 | 4822 | 4862 | 4862 | 4822 | 4862 | 4822 | 4822 | 4862 | 4822 | 4862 | 4822 | 4822 | 4862 | 4822 | 4822 | 4822 | 4822 | Total Amount |

laration :

1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from In hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Illur regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detailed. have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disconting the studies or accepts

(Signature & hear bine in all the Institution)

Vishev Capacare Gust a Govt. College

Pussore, Dist. - Raigarh (C.G.)

vernment of Chhattisgain

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/1/9/100358

Sanction Date: 15/01/2021

Applications Type: Renewal

| | 1703070 AR | 1703040 SU | Tion ID |
|--------|----------------------|-----------------------|---------------|
| | 1703070 ARATI LAHARE | 1703040 SUNITA LAHARE | Student Name |
| | Female | Female | Gender |
| | B. Sc./Science/II | B. A./Arts/II | Course |
| | Renewal | Renewal | Туре |
| | 10 | 10 | No. of |
| Total: | 300 | 300 | Rate |
| 111000 | 3000 | 3000 | Allemence T |
| 0 | 0 | 0 | wittion Fee 0 |
| 68054 | 1862 | 1822 | therFee |
| 68054 | 1862 | 1822 | Total Fee |
| 179054 | 4862 | 4822 | Тота Аттогит |

laration :

date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues in studies or accepts ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detection. arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......or maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Shaver Head Some Institution)
Name reading reading the Cover College
Pussore, Dist. - Raigarh (C.G.)

ornment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Sanction Date: 15/01/2021

Applications Type Fresh

| plication ID Student Name | Gender | Course | Туре | No. | Rate Ma | шиненте Ти | Teo C | ther Fee | Total Fee | Total Amount |
|---------------------------|---|--------------------|----------|--|---------|------------|-------|----------|-----------|--------------|
| 255667 Makardhvaj Pradhan | Male | B. A./Arts/I | Fresh | 8 | 55 | 440 | 115 | 1087 | 7007 | 3500 |
| 1424582 RUBITA PRADHAN | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 7607 | 2537 |
| 1616239 RAMAKANT MAHANT | Male | B. Com./Commerce/I | Fresh | 7 | 55 | 385 | 110 | 1207 | 2202 | 7957 |
| 1693577 REEMA SAO | | | T I COLL | A Company of the second | CC | 385 | 115 | 1982 | 2097 | 2482 |
| 10935// REEMA SAU | Female | B. Sc./Science/I | Fresh | 88 | 70 | 560 | 0 | 2022 | 2022 | 2582 |
| 1693756 PURNIMA SAO | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | 7507 |
| 1694649 TARUNEE SAO | Female | B. Sc./Science/I | Fresh | 9 | 70 | 029 | 0 | | 7700 | 2067 |
| 1694824 DHANANTRI SAO | T C C C C C C C C C C C C C C C C C C C | D Co /Coiono/T | 1 | The state of the s | , 0 | 000 | c | 2022 | 2022 | 2652 |
| TOOODY DILAPTI CITY | remale | b. 5c./science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | 2582 |
| 10990// BHAKII GUPIA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | 2542 |
| 1/14335 RAHUL VAISHNAV | Male | B. A./Arts/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | 2537 |
| 1743985 GAURI BANJARA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1987 | CV3C |
| 1747831 JAYSHRI GUPTA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1007 | 2462 |
| 1747869 SARITA PRADHAN | Female | B. A./Arts/I | Fresh | 00 | 70 | 280 | 0 | 1000 | 1007 | 2772 |
| 1750467 MEENA PATEL | Female | B Com /Commerce/I | Eroch | 0 | 700 | |) | 1700 | 1302 | 2942 |
| 1753708 BADMINI BABIK | Tomale of | p. com/commerce/1 | FIESH | α | /0/ | 560 | 0 | 1982 | 1982 | 2542 |
| 1/32/00 PADMINI BARIK | remale | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | 2542 |
| 1/55481 SARASWATI SAO | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | 7547 |
| 1755497 HEMLATA SAO | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | 2542 |
| 1/55/11 AJAY GUPTA | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | 7527 |

laration :

115

1982

2097

2537

no, 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Ined that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is def have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts with form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature & Sea Wishelf-achiar-ant-Gepta Govt. College Pussore, Dist.- Raigarh(C.G.) Institution

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Sanction Date: 15/01/2021

Applications Type : Fresh

| | | | | | | | | OH THE WALLET THE | Jordi Fee | Total A |
|--|-----------|--|--|--|-------|-----|--|-------------------|-----------|--|
| 1756594 ROSHANI BANJARA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | D | 1000 | | |
| 1755895 SURAL LAL GUPTA | Male | B. Sc./Science/I | Fresh | æ (| 77 | 440 | 2) (| 7867 | 1982 | |
| 1756622 SHARDA GUPTA | Female | B. A. /Arts/I | Erosh . | 0 0 | 20 | 044 | 135 | 2022 | 2157 | |
| 1758503 BABIII MEHAR | Mal | DA A LANGE LA | FIESH | Section of contracting data and a section of the se | 70 | 560 | 0 | 1982 | 1982 | |
| 17F0660 DDATIMA VARAL | Male | B. A./ARS/I | Fresh | 88 | 55 | 440 | 115 | 1982 | 2097 | the same of the party of the same |
| 1/58668 PRAITMA YADAV | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1087 | 1000 | Constitute a benefit to |
| 1759158 DEVHUTI BHOY | Female | B. Com./Commerce/I | Frach | 0 | 70 | 1 (| | 7067 | 7867 | |
| 1760551 RAJ MAHANT | Malo | B A /A + of | FIESH | œ | /0/ | 560 | 0 | 1982 | 1982 | |
| THE COURT IS A COUNTY OF THE COURT IS NOT THE COURT IN THE | MIDIE | b. A./Arts/1 | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | |
| 1/60566 JUGAL KISHOR GUPTA | Male | B. A./Arts/I | Fresh | œ | 55 | 440 | 115 | 1000 | | A STATE OF THE PERSON NAMED IN |
| 1761323 KAVITA BARETH | Female | B. A /Arts/I | Eroch | 0 | 1 | | 113 | 7057 | /607 | |
| 1761406 IYOTI GUPTA | Tomplo | D A /A-t-/ | 11031 | O CONTRACTOR OF THE CONTRACTOR | 10 cm | 560 | 0 | 1982 | 1982 | |
| TOTOTA VICTOR CO. | Lende | D. A./AIIS/1 | Fresh | 7 | 70 | 490 | 0 | 1982 | 1982 | CANADA SA |
| 1/61851 VISHAL SAO | Male | B. Com./Commerce/I | Fresh | œ | 55 | 440 | 115 | 1000 | | |
| 1761888 JYOTSANA GUPTA | Female | B. A./Arts/I | Fresh | 8 | 90 | | 7.1.7 | 1702 | 7607 | d and other manufacture of |
| 1761962 PITAMBAR GUPTA | Malo | B Com I Company to the last of | The second secon | | 70 | VOC | C | 1982 | 1982 | |
| 1762022 SABASWATI BRADHAN | 1 1010 | b. com/commerce/1 | Fresh | 6 | 55 | 330 | 115 | 1982 | 2097 | The state of the s |
| 1/02022 SARASWATT PRADHAN | Female | B. A./Arts/I | Fresh | 00 | 70 | 560 | 0 | 1087 | 1007 | |
| 1762773 SANGEETA SAO | Female | B. Sc./Science/I | Frech | 0 | 20 | | Continue of the continue of th | 7067 | 7967 | |
| 1763039 SUSHMITA GUPTA | Female | B Cc /Colonso/I | | 0 | /0 | 560 | 0 | 2022 | 2022 | |
| 70000 | i ciliaic | p. oc./ocience/1 | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1/63292 NANDINI BARETH | Female | B. Com./Commerce/I | Fresh | 6 | 70 | 420 | 0 | 1982 | 1007 | |
| 1763356 SUSHMITA PRADHAN | Female | B. Sc./Science/I | Fresh | 20 | 70 | ECO |) | 1000 | 7061 | And the state of t |

laration :

Inship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Ino. 1 to I do here by sanctioning a sum of Rs. lied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from little have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues, the studies or accepts Mur regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detailed by the scholarship of the scholarsOut of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Sup di Reid of the Institution)
Nishane Sharaa Gupta Govt. College
Pussore, Dist.- Raigarh (C.G.)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Sanction Date : 15/01/2021

Applications Type: Fresh

| 1762511 TENDON BRADIAN | Gender | - RATIFICAÇÃO | Туре | Mo. of | Rate | aintenence Allowance | Tullion Fee | Other Fee | n Fee Other Fee Total Fee |
|---------------------------|--|--------------------|--|--|------|--|-------------|--|---------------------------|
| 1763511 JITENDRA PRADHAN | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | |
| 1763534 PRAGATI NAYAK | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | With the section of the |
| 1764537 NAMRATA GUPTA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | |
| 1764592 BABLI BARETH | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1087 | |
| 1765108 JASMITA GUPTA | Female | B Com /Commerce/I | Front | | 70 0 | | | 1702 | |
| | rellidie | b. com./commerce/1 | Fresh | 6 | 70 | 420 | 0 | 1982 | |
| 1765691 CHANDAN NISHAD | Male | B. Sc./Science/I | Fresh | 8 | 55 | 440 | 135 | 2022 | Name of Persons Street |
| 1765836 MAHIMA YADAV | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | |
| 1765905 AKANKSHA PRADHAN | Female | B. Com./Commerce/I | Fresh | 80 | 70 | 560 | 0 | 1987 | |
| 1765957 AMIT KUMAR SAO | Male | B. A./Arts/I | Fresh | 8 | 55 | 440 | 115 | 1087 | |
| 1766218 POOJA PATEL | Female | B Sc /Science/I | Frech | O CONTRACTOR OF THE PARTY OF TH | 20 | | | A STATE OF THE STA | - |
| TREETER CLIDAT DAS MAHANT | The second secon | | The street of th | | , 0 | 000 | 0 | 2707 | |
| 1/00000 SURAU DAS MAHANI | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | |
| 1/6831/ DIKSHA GUPTA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | of the Checkberry of the |
| 1769253 VINITA GUPTA | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | etinore-endostra (|
| 1771113 LAXMI PRADHAN | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | |
| 1827900 JHARNA YADAV | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | |
| 1828370 ANKITA GUPTA | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | |
| 1828754 RANJITA PRADHAN | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | STATE OF THE PARTY OF |
| 1030000 ADTI CIMADAIAKAD | Ecmalo | 7 7 7 | 1 | 4 | | The second secon | | | |

mation:

100 here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online and that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts In form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the In regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it starts.

(Signature & Search Gligator of the Institution)

Vishma (Chairah) Gleps)a Govt. College

Pussore, Dist.- Raigarh (C.G.)

winment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Applications Type: Fresh Sanction Date: 15/01/2021

| | Student Name | Candar | Former | | | | | The state of the s | 1 1001 | | |
|--------|-----------------------|----------|--|--|--|--|---|--|--------|------------|--|
| | | Gender | Course | Type | | 6 5 | Vanence Turt | on Fee 08 | er Fee | otal Fee T | otal Amount |
| 31669 | 831669 RANJU BHOY | Female | B Sc /Science/T | Erock | O STATE OF THE PROPERTY OF THE | - | | | | | |
| COOTOG | 300 | Leilidie | b. Sc./Science/1 | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | 2582 |
| 33/559 | 33/559 KANU GUPIA | Female | B. A./Arts/I | Fresh | 00 | 70 | 560 | 0 | 1982 | 1982 | 2542 |
| 361523 | 861523 SAVITRI POBIYA | Female | B. Sc./Science/I | Fresh | 20 | 70 | 560 | | 2022 | | Control of the Contro |
| 760075 | 760075 ANITA BRADHANI | 1 | and a most particular than a strength and a strength of the st | Contraction of American State of the Contraction of | marries made after my analyse communication of | and the contract of the contra | TOTAL STATE OF STATE | | 2303 | 7777 | 7967 |

| 2 2542 2582 | | 1000 | 0 | 560 | 70 | 8 | Fresh | B. Com./Commerce/I | remale | UNHICH AYBANC 00C10/1 |
|--|------|------|---|-----|----|---|--------|-----------------------|----------|-------------------------|
| | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/1 | Female | TOTAL CHARVA MICHAE |
| | 1982 | 1982 | 0 | 560 | /0 | | LIESII | p. com/commerce/1 | - cindic | 1784346 DDITT GUBTA |
| | 7867 | 7067 | C | 000 | , |) | E COCK | B Com /Commerce/I | Female | 1778162 POOJA SAO |
| A STATE OF THE STA | 1000 | 1000 | 0 | 560 | 70 | 8 | Fresh | B. Com./Commerce/I | Female | 1777832 CHANDNI SIDAR |
| The second second second second | 2022 | 2022 | 0 | 490 | 70 | 7 | Fresh | B. Sc./Science/I | Female | 1777797 TANUSHRI BHOY |
| Security of the Cash Assumption of Control and Assumption | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/I | Female | 1////1 KETAKI PRADHAN |
| 2 2582 | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/I | remale | 1///28 PRIYANKA NISHAD |
| | 1982 | 1982 | 0 | 560 | 70 | 8 | Fresh | B. Com./Commerce/I | Female | 1777700 DDIVANIA MICHAE |
| 2512 | 2022 | 2022 | 0 | 490 | 70 | 7 | Fresh | B. Sc./Science/I | remaie | 177772 CONTRA SAC |
| 32 2542 | 1982 | 1982 | 0 | 560 | 70 | 8 | Fresh | b. A./Arts/1 | remande | 1777640 VINITA SAO |
| 32 2402 | 1982 | 1982 | 0 | 420 | 70 | 6 | Fresn | b. com./commerce/1 | Fomale | 1777407 ANIII BRADHAN |
| 22 2582 | 2022 | 2022 | | 000 | 70 | | 1 | B Com I Com I Com I I | | 1773451 PREETI SAO |
| | 1 1 | | | ECO | 70 | 8 | Fresh | B. Sc./Science/I | Female | 1773405 SIYA PRADHAN |
| | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/I | Female | 1773307 SANJEETA GUPTA |
| | 1982 | 1982 | 0 | 420 | 70 | 6 | Fresh | B. A./Arts/I | Female | 1771146 RUSNA PAV |
| The state of the s | 1982 | 1982 | 0 | 560 | 70 | 8 | Fresh | B. A./Arts/I | Female | 1/688/5 ANITA PRADHAN |
| 22 2582 | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/I | Female | 1861523 SAVIIRI POBIYA |
| 82 2542 | 1982 | 1982 | 0 | 560 | 70 | 8 | Fresh | B. A./Arts/I | Female | 183/359 RANO GUPTA |
| 22 2582 | 2022 | 2022 | 0 | 560 | 70 | 8 | Fresh | B. Sc./Science/1 | remale | 1037FFF PARIL CLIPTA |

In hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is 100, 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Speak binical) WishneucGhaspre Gygta Govt. College
Pussore, Dist.- Raigarh (C.G.)

omment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Applications Type: Fresh

Sanction Date:

15/01/2021

| | | Course | Type | Y 6 | Rate Ma | Interner Tu | Tion Tee | Ther Fee | Fee Total Fee T | Total Anno |
|---------------------------|--------|--------------------|-------|-----|---------|-------------|----------|----------|-----------------|--|
| 1781953 KISHAN SWARNKAR | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | |
| 1787348 TOOFAN NISHAD | Male | B. Com./Commerce/I | Fresh | 7 | 55 | 385 | 115 | 1982 | 2097 | |
| 1788462 DILESHWARI PATEL | Female | B. Com./Commerce/I | Fresh | 00 | 70 | 560 | 0 | 1982 | 1982 | |
| 1792416 ANITA YADAV | Female | B. Com./Commerce/I | Fresh | œ | 70 | 560 | 0 | 1982 | 1982 | and the second of the second of the |
| 1793872 ANIL GUPTA | Male | B. Com./Commerce/I | Fresh | 6 | 55 | 330 | 115 | 1982 | 2097 | - I over my comment of the state |
| 1794506 RAJANI PRADHAN | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | And the second second second |
| 1795009 PALLAVI NAYAK | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1795182 RAHUL PRADHAN | Male | B. A./Arts/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | The second of the second of the second |
| 1796134 POOJA GUPTA | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1800607 SHRAVAN YADAV | Male | B. Com./Commerce/I | Fresh | 7 | 55 | 385 | 115 | 1982 | 2097 | Carlo Contamination |
| 1800328 VIKAS KUMAR GUPTA | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | ACP CASTING |
| 1801489 MAMTA GUPTA | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | Riberrotatownstatunogony |
| 1804645 MUNNIBAI YADAV | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | And the second second second second second |
| 1805251 KIRAN SAO | Female | B. Com./Commerce/I | Fresh | 6 | 70 | 420 | 0 | 1982 | 1982 | With on the section to be desired |
| 1807249 PREETI YADAV | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | and the second of the second o |
| 1808155 PINKI YADAV | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1808342 ANITA GUPTA | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | control statement of the statement of th |
| 1809486 ANJU SA | Female | B. Com /Commerce/I | Frech | 00 | 70 | 193 | D | 1987 | 1087 | |

aration :

Mer regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is of Illute have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disconting In ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the and that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online he studies or accepts

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Date: 15/01/2021

| Sanction Number: | |
|-----------------------|--|
| N/10/6014/3/10/100420 | |

Applications Type: Fresh

| | | | | Z 0.11 | | Allowance | | | 91.41 | 0.0 |
|-----------------------------|--------|--------------------|-------|--|----|-----------|-----|------|-------|------------------------|
| 1809670 PADMINI GUPTA | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1987 | |
| 1810046 POOJA PRADHAN | Female | B. A./Arts/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1087 | |
| 1810241 MOHAN GUPTA | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1982 | 2007 | |
| 1812978 PRADEEP GUPTA | Male | B. Com./Commerce/I | Fresh | | 55 | 440 | 117 | 1002 | 2007 | 41000 |
| 1815547 PRAVIN GUPTA | Malo | D A /A-to/I | 1 | The second secon | 00 | OLL | CTT | 7961 | 7607 | |
| | Piale | D. A./AIUS/1 | Fresh | 8 | 55 | 440 | 115 | 1982 | 2097 | |
| 1813399 BHARAIT YADAV | Female | B. Com./Commerce/I | Fresh | 6 | 70 | 420 | 0 | 1982 | 1982 | March March Company |
| 1816388 GOUREE SAO | Female | B. A./Arts/I | Fresh | 00 | 70 | 560 | 0 | 1982 | 1982 | |
| 1818599 HEENA GUPTA | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1818922 PUSHPANJALI PRADHAN | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | |
| 1819210 RAVINDRA PRADHAN | Male | B. Com./Commerce/I | Fresh | 8 | 55 | 440 | 115 | 1987 | 2097 | 2011/08/2019 |
| 1819575 SAUDAMINI YADAV | Female | B. Com./Commerce/I | Fresh | 7 | 70 | 490 | 0 | 1982 | 1982 | a (magazina) a |
| 1824249 SHIVANGINI SAHU | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | the or we paragraph |
| 1824844 TOSHENDRA PATEL | Male | B. Sc./Science/I | Fresh | 8 | 55 | 440 | 135 | 2022 | 2157 | A SECTION AND ADDRESS. |
| 1826758 SEEMA GUPTA | Female | B. Sc./Science/I | Fresh | 8 | 70 | 560 | 0 | 2022 | 2022 | |
| 1827701 NIKITA PRADHAN | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | - |
| 1827707 KIRAN GUPTA | Female | B. Com./Commerce/I | Fresh | 8 | 70 | 560 | 0 | 1982 | 1982 | |
| 1771224 MADHURI PATEL | Female | B. Sc./Science/I | Fresh | 7 | 70 | 490 | 0 | 2022 | 2022 | |

aration :

Hur regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is of have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinue manip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the 110 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the studies or accepts



mment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/6014/3/10/100420

Applications Type: Sanction Date: Fresh 15/01/2021

Total:

211372

aration :

have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinges the studies or accepts 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online In that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it /s/g In form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

VISHING CHAIRTH Gupta Govt. College (Signature) Sayliof the Signature (Signature) Pussore, Dist.- Raigarh(C.G.)

nument of Chiartisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| | | | | Morti | | illuwon ca | Model Colo | 116 700 | 10:01 166 10 | ital Amou |
|-----------------------------|--------|----------------------|---------|-------|----|------------|------------|---------|--------------|-----------|
| 1508394 DEEPESH GUPTA | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 2697 |
| 1509620 SANGRAM VISHWAL | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 269 |
| 1510322 HEMSAGAR PRADHAN | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 2697 |
| 1524490 NITISH KUMAR GUPTA | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 2697 |
| 335544 GEETA GUPTA | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 848429 VEENA GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1211177 Sandeep Kumar Gupta | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1303574 HIMALAY PRADHAN | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1370182 BALJANTI BANJARA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1534108 NIKITA GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1371611 PRIYANKA GUPTA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1463720 VEENA MÉHAR | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1493413 POOJA SA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1494032 BHARTI SAO | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1498958 ANUPA CHOUDHARY | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1499239 LALITA PATEL | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1499617 JEMAKANT MALI | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1037 | FCJC |

aration :

Ilher regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is [a] date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts inship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature) Artin Pendor he Institution)
Vichney Charan Gupta Govt. College
Pussore, Dist.- Raigarh (C.G.)

emment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| pilication to | Sender | Course | Type | No. of | Rate | Maintenence 17 Allowence | uition Fee | ion Fee Other Fee | Total Fee | Total Amount |
|--------------------------|--------|----------------------|---------|--------|------|--------------------------|------------|-------------------|-----------|--------------|
| 1500199 KAVITA NISHAD | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1500563 TAPASWINI GUPTA | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1503336 POORNIMA PRADHAN | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1503955 KRISHNA MEHAR | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1506086 KADAMBINI GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1507108 ANCHAL BHOY | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1507536 NIRMALA SHRIWAS | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1512958 RANI DANSENA | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1524539 SARITA MALAKAR | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1524602 ITI GUPTA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1515970 FAGUNI GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1516036 ANITA GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1516109 NIRUPAMA PRADHAN | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1516529 NEHA PATEL | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1517126 AYUSH PRADHAN | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1517191 MAMTA SHRIWAS | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1517212 JYOTSNA BHOY | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1520304 SUBHASHINEE MALI | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |

aration :

have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Inhip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the 10. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online and that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from line regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is

(Signature & SpainfulpaulpTthe Institution)
Vishma Charlan IGtepsh: Kovt. College
Pussore, Dist.- Raigarh(C.G.)

mment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| | Gendel | Course | Туре | No. of | Rate | aintenence Ti | ition Fee C | ther Fee | Total Fee To | otal Arm |
|--|----------|--|--|---|--|---------------|-------------|----------|--------------|---|
| 1521325 SURAT MEHAR | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1000 | 1000 | |
| 1522077 AARATI MALAKAR | Female | B. Com./Commerce/III | Renewal | 10 | 22 | 850 | CTT | 7701 | 1937 | |
| 1525134 DIWAKAR GUPTA | Male | B. A./Arts/III | Renewal | 10 | 70 | 200 | | 7781 | 1822 | |
| 1525221 CHILBHAM NIAVAK | | Contraction with the contraction of the contraction | IXCI CAYO! | OT | 0/ | /00/ | 115 | 1822 | 1937 | |
| TOCOCCT OFFICE NATAN | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | AND DESCRIPTION OF STREET |
| 1525806 KAMLESH PRADHAN | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | |
| 1525964 JITENDRA NISHAD | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 136 | 1000 | 1001 | derivar attach |
| 1526751 ARHISHEK GUPTA | Malo | B Com /Common /III | | Commission of the contract of | The second secon | A CO C | CCT | 7007 | 7667 | |
| 1EDEZED AABTI CURTA | | c. com/commerce/tr | VEHEMQI | OT | /0 | 700 | 115 | 1822 | 1937 | |
| 1320/32 PARIL GOPIA | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | - dr compression |
| 152/101 KAMINI YADAV | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1527232 AMRITA PRADHAN | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1877 | 1822 | PRINTED STREET, STREET, ST. |
| 1527379 GHANSHYAM SAO | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1000 | 1707 | - |
| 1528759 YAMINI PRADHAN | Female | B. A./Arts/III | Renewal | 10 | 07 | 050 | > | 720T | 1707 | NA STREET, SA |
| 1529273 DEEDAK BHOV | Mala | | And the state of t | | | 000 | U | 7781 | 1822 | |
| TOTAL DESCRIPTION OF THE PROPERTY OF THE PROPE | MIGIE | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | |
| 15304/8 PREETI CHOUDHARY | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1531400 NISHA PATEL | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | |
| 1533732 ANJALI GUPTA | Female | B. Sc./Science/III | Renewal | 10 | 28 | 020 | > | 2 0 | 1000 | |
| 1534044 BANJEETA BERIYA | Female | B. A./Arts/III | Renewal | | 100 | 000 | 0 | 7997 | 7981 | |
| 1534404 GANGA MAHANT | Female | B Com /Commorco /III | | 10 | 00 | 000 | 0 | 1822 | 1822 | |
| THE ISLAND TO SELECT | rellidie | b. com./commerce/III | Renewal | 10 | 85 | 850 | 0 | 1833 | 1677 | |

laration:

ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature appear of the Bad of the Institution)
Vishme Charan Gupta Gover. Collegion)
Pussore, Dist. - Raigarh (C.G.)

nction Register for Scholarship wmment of Chhattisgarh

100000 I

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021
Applications Type: Renewal

| | | collide | Type | No. of | kate Na | Intenence Tu | ition Fee 0 | ther Fee | Idal Fee To | tal Amoun |
|--------------------------|--------|----------------------|----------|--|---------|--------------|-------------|----------|-------------|-----------|
| 1534572 GAYATRI MAHANT | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 950 | O. | 1033 | | |
| 1535966 SHIKHA VISHAL | Female | B. Sc./Science/III | Renewal | 10 | 27 (| 050 |) | 7701 | 1822 | 2672 |
| 1536856 SARITA PATEI | Fomalo | B Cc /Ccionco/III | | TO | 00 | 000 | 0 | 1862 | 1862 | 271; |
| TOTOGO GANTIA FAIRE | remale | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 153//U4 RUSHANI GUPIA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1538340 POOJA GUPTA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | ۱ ر |
| 1642253 LATA BHOY | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1000 | 0 0 | 7072 |
| 1646559 NIKITA GUPTA | Female | B A /A+C/II | | Philips of an extension of the philips of the phili | | 000 | C | 7701 | 7877 | 2672 |
| CACCOO HEMA CHETA | | o. vivisi | KEIIEWdi | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| TOTOGO FIENA GOPTA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1046836 SUSHAMA NISHAD | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 164/199 DEEPA BHOY | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 7677 |
| 1650783 HEEMA PATEL | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1201 | |
| 1651982 BINDU GUPTA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1877 | 1001 | 77.77 |
| 652123 SAROJANI SAW | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1922 | 7701 | 2/07 |
| 1506038 PRABHASINEE MALI | Female | B. A./Arts/III | Renewal | 10 | 22.7 | ρ η 1 | > 0 | 1000 | 7201 | 26/2 |
| 1524793 DIKSHA GUPTA | Female | B. Com /Commerce/III | Donowsi | 2 | 21 | 0 (0 | | 7201 | 7787 | 2672 |
| 541175 PAWANI GIRTA | Mal | p. com/commerce/111 | Nelicwai | OT | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| TILLY S TOWNING GOFTA | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 2697 |
| 541344 ANTIA MEHAR | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1541853 JUGAL PRASAD SAO | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 125 | 1863 | 1007 | |

ation:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from In hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the lime regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period in Cartesian scholarship. have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts 10. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

(Signature & Beanding of the Institution)
Vishiam Chamin Guepus (Govt. College
Pussore, Dist.- Raigarh (C.G.)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

,

Sanction Date : 15/01/2021
Applications Type : Renewal

| | | | | Month | | Mowance | Thom too C | A E FOE | or or all ree | lotal Am |
|--------------------------------|---------|----------------------|--------------|-------|----|---------|--|--|---------------|--|
| 1641889 JYOTI NAYAK | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1542380 BHAIRAV GUPTA | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1877 | 1027 | |
| 1542882 DHARMENDRA DAS | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 00% | 7 (| 7701 | 7,527 | |
| 1641863 PRAMII A PRADHAN | Female | | | OT | 70 | 007 | 115 | 1822 | 1937 | |
| TOTAGO TRANSLED FRADRAIN | remaie | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | And the second section of the second section of |
| 1543/44 AANCHAL GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1833 | |
| 1543805 ANITA GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | O Commence of the second section of the second seco | The state of the s | 730.T | |
| 1641688 SEEMA SA | Female | B A /Ada/II | | | Ç | 000 | O | 7872 | 1822 | |
| 100000 DINITO 100000 | reliaie | D. A./AITS/11 | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1343849 DINESH KUMAR PRADHAN | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | AND THE PARTY OF A SECTION |
| 1543868 LAXMI PRAJAPATI | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1877 | 1000 | - |
| 1543920 DIVYA GUPTA | Female | B. Com./Commerce/III | Renewal | 10 | on | 0 |) | 7201 | 7201 | And the second of the second of the second |
| 1641470 VEERENDRA KI MAR BATEI | Mala | | - Concerning | TO | 00 | UCB | 0 | 1822 | 1822 | |
| TOTALING VICTORIAN POLICE | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1343930 TAMINI SHKIVAS | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | ALTER PROPERTY NAMED BY CAMPAGE |
| 1544084 ALKA PRADHAN | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | | 1877 | 1977 | MANAGEMENT AND |
| 1544096 ARUNA GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | D | 2201 | 7701 | 26/2 |
| 1546467 SUSHAMA GUPTA | Female | B Sc /Science/III | Poposol | | | | C | 7701 | 7781 | |
| 1547660 SHRATHAN NISHAN | Malo | B. Sc./ Science/III | Kenewal | 10 | 85 | 850 | 0 | 1862 | 1862 | |
| TO TOO GOOD GAL MICHAEL | Male | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1548340 NAMITA GUPTA | Female | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | The same and the s |
| 1548466 LEELA GUPTA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |

and that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from we have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Inship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period if 🐼 no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ected.

(Signatur, White Institution)
Vishwanth Chair adupter Shovt. College
Pussore, Dist.- Raigarh(C.G.)

emment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date : 15/01/2021

Applications Type: Renewal

| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. A./Arts/II | Female | 1533382 KAUAL YAUAV |
|------|------|------|-----|--|----|----|----------|----------------------|--------|--------------------------|
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | b. Sc./Science/II | remale | TOURSE CONTINUED TO THE |
| 2637 | 1937 | 1822 | 115 | /00/ | 70 | 10 | Kellewal | D. C. (C.) | Fonds | 1633000 SUNITA GUBTA |
| 2637 | 133/ | 720T | 110 | The state of the s | | * | Donous | B A /Arts/II | Malo | 1619024 ANKIT SAO |
| -636 | 1037 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. A./Arts/II | Male | 1618899 NAROTTAM GUPTA |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. A./Arts/II | Male | 1618691 GANGADHAR GUPTA |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. A./Arts/III | Male | 1602233 BAJRANG GUPTA |
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. A./Arts/III | Female | 15/53/9 GEETANJALI GUPTA |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. Com./Commerce/III | Male | 1562907 DEEPAK GUPTA |
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. A./Arts/III | Female | 1562/9/ JAMINI GUPTA |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. Com./Commerce/III | Male | 1557050 PRABHAT YADAV |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. Com./Commerce/II | Male | 1554880 AKASH BHOY |
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/III | Female | 1553190 IKIPII GUPIA |
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/III | remale | 1553406 TRIPTI CHETA |
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/III | remale | 1552003 SEEVA GUPTA |
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/III | Female | 15E200E SEEMA CHRTA |
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/III | remale | 1549933 PRITAINNA GUPTA |
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/III | remale | 1540005 DOLAKI PATEL |
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/II | Female | 1541402 RUKMANI PATEL |

ation :

mer regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it iship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......or an aintenance allowance and Rs.as tuition and other fees. Printed copy of online led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from late have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & hat tonbe the Institution)

Pussore, Dist.- Raigarh(C.G.)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

| 0 |
|--------|
| O |
| = |
| ò |
| - |
| 0 |
| = |
| S |
| |
| 7 |
| \leq |
| 8 |
| CD |
| |
| |
| - |
| 20 |
| (D |
| 3 |
| CD |
| > |
| Ω) |
| _ |
| |
| |

| 1633795 RITESH KUMAR PRADHAN | Male | B Sc /Science/II | - | | | OMETICE | | | |
|------------------------------|--|--------------------------|--|--|--|--|--|------|-------|
| 1633441 SANDHYA PRADHAN | E STORY OF THE PROPERTY OF THE | | VELIEMGI | n T | /0 | 700 | 135 | 1862 | 1997 |
| | renidie | b. A./AITS/11 | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 |
| 10300// MANJUSHA PRADHAN | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1000 | |
| 1637054 CHAINKUMARI NISHAD | Female | B. A./Arts/II | Ponowol | No. of Contrast of | 2 | The second secon | | 770T | 77781 |
| 1653493 ANITA DANISENA | 7 | or of the section of the | Kenewai | 10 | 825 | 850 | 0 | 1822 | 1822 |
| TOUTES AINTA DANSENA | remale | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1860 | - |
| 1653776 PITAMBAR MEHAR | Male | B Sc /Science/II | Dogue | The second secon | And the control of th | And the state of t | Married and Control of | 700T | 7007 |
| 1657495 MAMTA PRADHAN | E comple | B A (A the litt | Kenewai | 10 | 70 | 700 | 135 | 1862 | 1997 |
| | rellidie | b. A./AITS/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 |
| TOS/309 SUSHIVITA GUPIA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | O | 1822 | 4 |
| 1657703 KASTURI GUPTA | Female | B. A./Arts/II | Renewal | 10 | 070 | 0 | | 7201 | 7701 |
| 1658237 SAPNA PAW | Eamala | | CONCENSION | 10 | 85 | 058 | 0 | 1822 | 1822 |
| 1650363 CEENA DAW | - Glidic | D. A./AILS/11 | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 |
| TOOOGO SEELVIA PAV | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | D | 1000 | - |
| 1658713 REEMA GUPTA | Female | B. Sc./Science/III | Renewal | 10 | OT OT | 27 | Company of the second s | 7201 | 7701 |
| 1659061 KIRAN PATEI | Eomolo | B Com IC | The same and partition and par | TO | 00 | 058 | 0 | 1862 | 1862 |
| 1660730 611010 5000100 | - Cilidic | b. com./commerce/11 | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 |
| 1000/30 SOUTH FRAUTAN | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 3 | 1867 | |
| 1663428 LIPIKA MEHAR | Female | B. Sc./Science/II | Renewal | 10 | 9.7. | 070 | • | 1007 | 7007 |
| 1664011 KADAMBINEE GUPTA | Female | B Cr /Crionco/III | | 10 | 00 | 000 | 0 | 1862 | 1862 |
| | ICITIQIC | p. 3c./ science/11 | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 |
| 1004/52 PRANSHU MAHANA | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1 |
| 1668927 POOJA DANSENA | Female | B. Com./Commerce/III | Renewal | 10 | 20Д | 050 | | 7007 | 1557 |

fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it/f a screed.

Vishame dranial bubies Govt. College (Signature & Pussore, Dist. - Raigarh(C.G.) of the Institution)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date : 15/01/202

Applications Type: Renewal

| 1862 | 0 18 | 850 | 85 | IU | KEIJEWdi | טי סבי/ סכוכווככ/ דו | . (1100 | The second secon | |
|------|--|------|------|-----|----------|----------------------|----------|--|---|
| 1 00 | 0 1862 | 058 | 00 | 10 | | R Sc /Science/II | Female | 1684817 SEEMA PATEL | _ |
| 7997 | | 030 | 000 | 10 | Renewal | B. Sc./Science/II | Female | 1684095 MEENAKSHI SAO | |
| 1 6 | - | 850 | 85 | 10 | Renewal | B. Sc./Science/II | Female | 1683854 TULSI GUPTA | _ |
| 1822 | 0 1 | 850 | 85 | 10 | Renewal | B. A./Arts/II | Female | 1683495 DEVKALI PRAJAPATI | _ |
| 1862 | 0 1 | 850 | 85 | 10 | Renewal | B. Sc./Science/II | remaie | TOTAL MONTH TOTAL | _ |
| 1862 | 0 1 | 850 | 85 | 10 | Kenewai | B. Sc./Science/II | Econolo | 1683409 KUMODINI BANJARA | |
| 1862 | 0 1 | 850 | 85 | IU | NCIICWOI | B Sc /Science/II | Female | 1682321 ANITA GUPTA | |
| 1822 | | 850 | 00 | 10 | Ponowal | B. Sc./Science/IT | Female | 1681179 ANUPAMA THANAPATI | |
| 7701 | | 9 | 000 | O. | Renewal | B. Com./Commerce/II | Female | 1680359 RANJITA GUPTA | |
| 0 | The second secon | 700 | 70 | 10 | Renewal | B. A./Arts/II | Male | 1677408 JITENDRA GUPTA | |
| 1862 | 135 | 700 | 70 | 10 | Renewal | B. Sc./Science/II | Male | 16/6995 CHAIBAN MALAKAR | |
| 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/II | remaie | TO SOUT LICINIAN DAINOLINA | - |
| 1862 | 135 | 700 | 70 3 | TO | Kellewdi | | - Comple | 1676891 MONIKA DANSENA | |
| 1822 | | 850 | 00 | 10 | Dogwal | R Sc /Science/II | Male | 1676547 SUDAMA PATEL | |
| 7707 | Contract the second | 0.00 | 0 | 10 | Renewal | B. A./Arts/II | Female | 1675303 RENU GUPTA | |
| 1000 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/III | Female | 1672980 NEHA PASAYAT | 1 |
| 1822 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/II | remaie | ANJENION COOL CONSENSA | |
| 1822 | 115 | 700 | 70 | 10 | Kenewal | p. com/commerce/II | - IOIC | 1671000 BOOTA DANISENA | |
| 1822 | 0 | 850 | čS | 0.1 | Reliewal | B Com/Commerce/II | Male | 1670135 VIKRAM GUPTA | |
| 7701 | The second section of the second | | 2 | 40 | Panawal | B. Com./Commerce/II | Female | 1669734 PARINA GUPTA | |
| 1033 | 0 | 850 | 85 | 10 | Renewal | B. A./Arts/II | Female | 1669637 SARITA GUPTA | |

no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online led that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from uship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the late have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontings the studies or accepts her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is/q

(Signature %) Searung end b Visime (Chaitan Gupp)a Govt. College Pussore, Dist. - Raigarh(C.G.) The Institution)

overnment of Chiatrisgaria

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| 1687808 ISHWADI NISHAD | 7 | | | | | CANGILLE CAN | | | | |
|-----------------------------|----------|----------------------|----------|--|--|--|--|------|------|----------------------|
| 10000EG1 VEDVINIMAN GAO | remale | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1000301 VEDKUNVAK SAU | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1718001 SOMNATH GUPTA | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1037 | mark annual |
| 1718613 RASHMITA SAO | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1065 | 1000 | - Sections |
| 1718750 NISHU YADAV | Female | B Sc /Science/II | Dogue | | The state of the s | 000 | C | 7007 | 7987 | |
| TOTAL STREET | геппане | b. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | |
| 1/19//6 SANJANA YADAV | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1867 | C PPS ARTISTICS |
| 1719867 PRITAM SAHU | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1000 | 1 1 | |
| 1719956 SANTOSHI YADAV | Female | B Sc /Science/II | 70101 | With the Young the Constitution of the Assessment of States and St | A STATE OF THE PARTY OF T | STORY AND SERVICE AND SERVICE STORY OF SERVICE STORY STORY STORY | And the county of the County o | 7201 | 7567 | |
| 1720710 LICHA BLIOV | 1 (| c. or/ original II | VEHEMQI | OT | 85 | 850 | 0 | 1862 | 1862 | |
| T/20/19 OSNA BHOT | remale | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1720753 AKASH GUPTA | Male | B. A./Arts/II | Renewal | 10 | 70 | 700 | 115 | 1033 | 1001 | Contract of the last |
| 1720821 LALSHANKAR PATEL | Male | B. A /Arts/III | Donoural | O.F. | 1) | | 110 | 7701 | 193/ | |
| 1722340 IYOTI SAO | E Comple | DO TO THE LATE | NCIICWOI | TU | 70 | 700 | 115 | 1822 | 1937 | |
| | гение | b. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | e Action consumer |
| 1/22345 MUKESH GUPTA | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | A CORPORATION OF |
| 1722804 TEKCHAND SAO | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1000 | | |
| 1723534 HARIBANDHU CHHATTAR | Male | B Sc /Science/II | Dogowal | | | | | 720T | 193/ | |
| 1726002 DRAY BATE! | T dic | p. oc./ ocietice/11 | Kenewai | 10 | 70 | 700 | 135 | 1862 | 1997 | |
| 1/20002 DIVIA PAIEL | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | - |
| 1726031 NEETU JAISWAL | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1862 | 1863 | |
| 1727557 RENUKA YADAV | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1860 | 1961 | |

ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts 10. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online whip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the we regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it

(Signature & Shrint diple of the Institution)
Visame (Chaitan Guerray Govt. College
Pussore, Dist.-Raigarh (C.G.)

remment of Chhartisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| 1726789 LATA YADAV | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
|-----------------------------|--------|----------------------|---------|----|----|-----|-----|------|------|--|
| 1728129 RAHUL PASAYAT | Female | B. Com./Commerce/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1728261 ASHVINI KUMAR GUPTA | Male | B. Sc./Science/II | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | Service and Servic |
| 1729209 AARTI GUPTA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | |
| 1729750 AMAN GUPTA | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | |
| 1733828 KISHAN LAL BHOY | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1791468 ARTI PRADHAN | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1851439 ANITA SAO | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1821745 GAGAN BIHARI SETH | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1717801 RAJESHWARI YADAV | Female | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1624904 BALLABHI MAITRI | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1862 | 1862 | 2712 |
| 1625698 KALYAN SINGH NAYAK | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 135 | 1862 | 1997 | 2697 |
| 1627996 SEEMA BHOY | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1628313 ROSHAN BHOY | Male | B. A./Arts/II | Renewal | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1628472 POOJA SAO | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1652773 MAMTA NISHAD | Female | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| 1688658 JYOTI GUPTA | Female | B. Com./Commerce/II | Renewal | 10 | 85 | 850 | 0 | 1822 | 1822 | 2672 |
| | | B Sc /Scionco/II | Renewal | 10 | 70 | 700 | 135 | 1860 | 1007 | 7607 |

iration:

her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is ate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts no. 1 to I do here by sanctioning a sum of Rs.out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Iship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

(Signature & Repairit Baggof the Institution)
Wishau Charant Begg Govt. College
Pussore, Dist.- Raigarh (C.G.)

imment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Applications Type: Sanction Date: Renewal 15/01/2021

| | | | | Month | OHA | Wallie | 0 | 1862 | 1862 |
|---|--|--------------------------|--|--|------|--------|--|--|---|
| 1689046 REETU PRADHAN | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 1 0 | 7007 | 1027 |
| 1000013 TITECH GIIDTA | Male | B. Com./Commerce/II | Renewal | 10 | 70 | 700 | CTT | 7701 | |
| 009273 3116311 501 111 | 1 | B Com (Commerce/II | Renewal | 10 | 85 | 850 | 0 | 7781 | 770T |
| 1690390 SUKESHINI GUPTA | Female | B. Colli,/Collilleice/11 | a management of the state of th | The second return of the second secon | 28 | 850 | 0 | 1862 | 1862 |
| 1690450 PRAGATI GUPTA | Female | B. Sc./Science/II | Renewal | 10 | 21 6 | 000 | 0 | 1872 | 1822 |
| 1600528 HEMI ATA PRADHAN | Female | B. Com./Commerce/II | Renewal | 10 | 85 | OCO | | 5 | 1000 |
| 2002C0 11E1:E2:10 10 10 10 10 10 10 10 10 10 10 10 10 1 | AND AND AND AND ADDRESS OF THE PERSON NAMED AND ADDRESS OF THE | D Commorco/II | Renewal | 10 | 85 | 850 | 0 | 7781 | 7701 |
| 1690674 ANJALI SAHU | Female | B. Com./Commerce/11 | NCI CYTE | 10 | 22 | 850 | 0 | 1822 | 1822 |
| 1693354 POOJA PRADHAN | Female | B. A./Arts/II | Renewal | n | 9 | 0 0 | O STATE OF THE PARTY OF THE PAR | 1867 | 1862 |
| ACCASES VII ACHTNIT BANA | Female | B. Sc./Science/II | Renewal | 10 | 85 | 058 | 0 | 7007 | 1000 |
| SATOLITIES SALES | | B Com (Commerce/II | Renewal | 10 | 70 | 700 | 115 | 7781 | 7567 |
| 1695186 LAMBODAR GUPTA | Male | B. Com./Commerce/11 | No. 1 CARCI | O Company of the Comp | 70 | 700 | 115 | 1822 | 1937 |
| 1695242 AJAY KUMAR GUPTA | Male | B. Com./Commerce/II | Renewal | OT | 70 | 0 0 | 0 | 1862 | 1862 |
| 1605721 PRIVA GUPTA | Female | B. Sc./Science/II | Renewal | 10 | 85 | 000 | Commence of the commence of th | 5 | CCO F |
| COCO DEEDINA CURTA | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | U | 7701 | T077 |
| 1090900 DELL MA | Eomalo | R Sc /Science/II | Renewal | 10 | 85 | 850 | 0 | 7981 | 7007 |
| 1696042 TULSI PRADHAN | Lendie | | | 10 | 85 | 850 | 0 | 1822 | 1822 |
| 1696061 INDU BARIK | Female | B. A./Arts/II | Kenewai | A POST CONTRACTOR CONT | 01 | 050 | 0 | 1862 | 1862 |
| | Female | B. Sc./Science/II | Renewal | 10 | 85 | 000 | 0 | | (201 |
| COLOR WITH CIRTA | | TTT | Donowal | 10 | 85 | 850 | 0 | 1862 | 1862 |
| 696132 KIRTI GUPTA | Female | B. Sc./Science/II | Kenewai | AT COLUMN TO THE PERSON TO THE | 70 | 850 | 0 | 1862 | 1862 |
| 696132 KIRTI GUPTA 696250 RAJNI CHOUDHARY | Female | B. Sc./Science/II | Renewal | 10 | on C | 850 | 0 | 1822 | 1822 |
| 1696132 KIRTI GUPTA 1696250 RAJNI CHOUDHARY 1698458 MANJULATA YADAV | | | Renewal | TU | 00 | 000 | | And the second s | Second Children Milliager of deep corrected to the second |

ration:

id that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from we regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship/stipend from the period it of the authority for eventual discontinuance of scholarship and the scholarship are the scholarship are the scholarship and the scholarship are the scholarship and the scholarship are the scholarship and the scholarship are the scholarship a We have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Inip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the . 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online

Vislame Charital Gutersa Govt. College (Signature & Seal pict) (Street Institution) Pussore, Dist.- Raigarh(C.G.)

erriment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

> State: Government of Chhattisgarh

Sanction Number : R/10/6014/3/10/100361

Sanction Date 15/01/2021

| Institute Name: Government Collage Fussore | ent Collage Fu | 99016 | | | | A | pplications Ty | Applications Type : Renewal | | |
|---|----------------|--|----------|--|-----------|--------------|----------------|--|--|--|
| Academic Year: 2020-21 | | | other | No. 01 | alle Majo | Mohalise III | House of | hel lee | nal Fee Top | al Amount |
| Studen Texas | | | | The state of | 200 | 850 | 0 | 1822 | 1822 | 2672 |
| 1700711 MAMTA CHETA | Female | B. Com./Commerce/II | Renewal | 10 | CS | | (| | 2 | 200 |
| 1700711 MAMIA GUFIA | Cindic | | Donowsi | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1703771 KISHAN KUMAR SAO | Male | B. Com./Commerce/11 | Kenewdi | OT | 01 | 000 | 0 | 1877 | 1822 | 2672 |
| | Eomalo | B Com./Commerce/II | Renewal | 10 | 85 | 000 | | TOTAL STATES | And the second s | and the control of th |
| 1703864 SANJU YADAVV | Cindic | THE PARTY OF THE P | | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1703983 PAPPU GUPTA | Male | B. Com./Commerce/11 | Kenewai | And the contract of the contra | 2 | 850 | 0 | 1862 | 1862 | 2712 |
| 1704103 NEHA SAO | Female | B. Sc./Science/II | Renewal | U | 00 | | 1 | | 1037 | 2627 |
| The Carte Control of the Control of | Malo | B Com./Commerce/II | Renewal | 10 | 70 | 700 | 115 | 7701 | 1937 | 7007 |
| 1/04153 KAPILASH BHOT | | An executed over region, and materials are added from the most executed management of execution and materials and | | 10 | 70 | 700 | 115 | 1822 | 1937 | 2637 |
| 1704363 VIJAY KUMAR PRADHAN | Male | B. Com./Commerce/II | Kenewai | A TOTAL CONTRACTOR OF THE PERSON OF THE PERS | | 700 | 117 | 1822 | 1937 | 2637 |
| ABUTCHEK BRADHAN | Male | B. Com./Commerce/II | Renewal | 10 | /0 | /00/ | | | | 200 |
| 1/04801 ADDITION FRANCISM | | | Donoural | 10 | 70 | 700 | 115 | 1822 | 193/ | 265/ |
| 1705657 BALLAV RANA | Male | B. Com./Commerce/11 | Keriewai | And the second s | 0 | 850 | 0 | 1822 | 1822 | 2672 |
| A TOGETO WAMAI A GIIDTA | Female | B. A./Arts/II | Renewal | 10 | 65 | 020 | (| And the second s | | Chec |
| 1/06529 KAMALA GUTTA | | | Dogwood | 10 | 85 | 850 | 0 | 1862 | 1862 | 2/12 |
| 1707474 ANSHU PRADHAN | Female | B. Sc./Science/II | Kenewdi | And the second contract of the second contrac | 07 | 020 | 0 | 1862 | 1862 | 2712 |
| 1708911 YASHOVANTEE DANSENA | Female | B. Sc./Science/II | Renewal | 10 | CO | 000 |) | 1000 | 1837 | 2672 |
| | Eomolo | B Com /Commerce/II | Renewal | 10 | 85 | 850 | C | 7707 | The second secon | Machine to the second contract of the second |

Female

B. Com./Commerce/II B. Sc./Science/II B. Sc./Science/II

1708956 HEERAMATI NISHAD 1708911 YASHOVANTEE DANSENA

1710859 PREETI MAHANT 1709207 BALLABHI YADAV 1708993 BIJALI YADAV

Female

Female

8

Com./Commerce/II

1711559 NAMITA PATEL 1712686 PRIYANKA DANSENA

> Female Female Female

0

A./Arts/II

B. Sc./Science/II B. Sc./Science/II B. Com./Commerce/II

> Renewal Renewal Renewa Renewal Renewa Renewa

> > 10 10 10 10 10 10

85 85 85 85

Renewal Renewa

> 10 10

85 85

850 850 850 850 850 850

0

1862 1822 1822 1822 1862 1862

0 0

850

1862 1862 1822 1822 1822 1862

1862 1822

> 2712 2712 2672 2672 2672

2672

ration :

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 0. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is recently the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship/stipend from the period it is reported to the authority for eventual discontinuance of scholarship scholarship is reported to the authority for eventual discontinuance of scholarship scholarship scholarship is reported to the authority for eventual discontinuance of scholarship scho te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discopyinges the studies or accepts hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

gnature Pussore, Dist.- Raigarh(C.G.) Me (Sapitar) Sters Govt. College Wear of Heart of the Institution)

vernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Government Collage Pussore

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/6014/3/10/100361

Sanction Date: 15/01/2021

Applications Type: Renewal

| 591577 | 413477 | 405662 | 7815 | 178100 | Total: | | | | | |
|--------|--------|--------|------|-------------|--------|---------------------------------------|------------------------------|--|--------|--------------------------|
| 2672 | 1822 | 1822 | 0 | 850 | 85 | 10 | Renewal | B. Com./Commerce/III | Female | 1717177 PRIYANKA GUPTA |
| 2712 | 1862 | 1862 | 0 | 850 | 85 | 10 | Renewal | B. Sc./Science/II | Female | 1714811 AMRITA MEHAR |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. Com./Commerce/II | Male | 1714455 SUDHIR PRADHAN |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. Com./Commerce/II | Male | 1714412 PRATAP BARIK |
| 2697 | 1997 | 1862 | 135 | 700 | 70 | 10 | Renewal | B. Sc./Science/II | Male | 1713079 DEV KUMAR NISHAD |
| 2637 | 1937 | 1822 | 115 | 700 | 70 | 10 | Renewal | B. A./Arts/III | Male | 1712926 SANJAY GUPTA |
| | | | | William Co. | | | | | | |
| | | | | | | 一 一 一 一 一 一 一 一 一 一 一 一 一 一 一 一 一 一 一 | Section 4 A second section 2 | The second of th | | |

aration :

no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defined by the continuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is defined by the continuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the authority for eventual discontinuance of scholarship and the fact will be immediately reported to the scholarship and the scholarship are scholarship and the scholars ate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

(Signature & Saa of Head of the Institution)
Naphen(Capital Leters) Saa Gov. Colleg.
Pussore, Dist. - Raige/h(C.G.)